
（ ）（ ）equal to ( )6 3s 18

( )+( )+( )+(  )+( )+( )=(   )3 3 3 3 3 3

（ ）×（ ）=( )6 3 18

18

强调相同重复的数



5+5+5+5+5+5

Shanghai Zhabei Experimental Primary School

=30  

5×6 =30

Which number is repeating？

6 5s
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7+7=14  

7×2 = 14

Which number is repeating？

2 7s



6+6+6
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=18  

3 6 18× =

（1）

Which number is repeating？

3 6s



4+4+4+4+4+4
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=24

6 4 24× =

（2）

Which number is repeating？

6 4s



8+8+8
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=24  

3 8 24× =

（3）

Which number is repeating？

3 8s
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4 6 24× =

（ ）+（ ）+（ ）+（ ）= 24（ 4 ）

Which number is repeating？

4 6s

66 66
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3 9 27× =

（ ）+（ ）+（ ）= 27（ 5 ）

Which number is repeating？

3 9s

9 9 9



10 +5+5

Shanghai Zhabei Experimental Primary School

=

2 10 20× =

20

10

Challenge

Which number is repeating？



10+5+5
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=

4 5 20× =

20

55

Challenge



2+2+2+2+2+2

Shanghai Zhabei Experimental Primary School

2+2+2+2+4

2

→  

×6

2 2

4 =12

12=

Challenge
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2+2+2+2+4 2→  ×6

2 2

4 12=

2+2+2+2+4 4→  ×3

4

12=

4

2+2+2+2+4 6→  ×2

6

12=

6

Challenge



Choosing (   ) children in the cup as a 

group，there are (   ) groups in all.

(   ) (    )s 

Number sentence:  3×4=12

4
3

43

Which number is repeating？

Word  problem



*Drawing ○，
3 in each group，
3 groups.


